Ludwig van Beethoven
Symphony No. 1 in C Major, Op. 21
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Beethoven — Symphony No. 1
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Allegro molto e vivace. d.

Menuetto.

-0l

& 1

£E;

cresc.

—
1]
1

= |
P |

1

1

I
L ST S § B P 1717 S |

I |
¢ &1

Ihe T

]

T

14

—

i1
T

2 |

Ve

| A
—T

T
i

29

o
RN @) ldela T
} N 20 R 2 . )

1
¥
i

1o @

Y
{ ol
1

P
| £ 2% .4 §
T

L 1Y o 1

48

M
L
i 18
.Lr{
1l
e
<@l
3 Y
<@l
\'F
\'J
ol
oid
..F
2
[ ]
B ]
| T
8 1
S
C )
=
= |
=
L
H
fhun=
n
w0

Viol.1zp

- 23

Trio

[#]
-
1

Pl

(7]
T
1

Py = Y
. B T4 |

Py
124

»

124

T ] T
————m————

J:SS.

vivace.

olto e

63.

4

gio. 2.

N

Ada,

Allegro m

D

gy T PP 49T
SRS N NSN3 S 0 R e R S A e

l“ﬂlpl
L« ]
1T

FLL RR2L £Ls0 o90s

R

Te, T 1

I le | 1T 17 g

3
1lg & [

e

—
!

o

T RIP I
T

|

43

-
=
=

= &

|
2
it
1 8

=

L &

T
u
5 & &

=]

R{C3 2




Beethoven — Symphony No. 1

VIOLA.

T

| -

¥/

3]’1
1

g

]
1
L

LA IV S IR SR 2 |

LEd 7 0

102

-4

1
1
@

2

| & QU T T [ 1]

3]
§ R S s Ern |

——
i IS e |

2

ppee 5 L2 L2

—_—

. |

VA
ST
=

v

147

4

B

S

Pl

=

»

156 ﬁ
Y J

| By [0y 8
V4

74

VA 4

1
=

168

[ 3
L

[

S
L

cresc. -

179

e

crese. -

+

T

I 17

L

e et 06 PR

D
} F A §
s

‘Ii’l
N

1 77
| G 8
1
1

——
2

#

Pd

192

r J £
. -

e 17

cresc.

[ 1 @ & 11 & 1T 4
L 1 & 17 & [T 8




